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(General)
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The figures in the margin indicate full marks
for the questions.

Answe either in English or in Assamese.
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1. Answer / choose the correct answer: 1x6=6
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(a) What are the reasons to believe that light is
a wave motion ?

(AT @ oalfs O et SRt FIRITRR
& e

(b) Name the Scientist who first proposed the
wave theory of light.
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(c) Can two wavefront cross one another ? Give (i) it is not -absorbed

reason.  oiffe T A
Wo! S «5iE SFCGIS SO FRA ACIC 2 -
R vl | (iv) it has small angular spread.
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(d) Which type of wave show the property of
polarisation ?

2. Answer the following questions : 2x2=4
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(a) Distinguish between Fresnel and Fraunhoffer

class of diffraction.
(e) What will be the shape of the wavefront of

light coming from the point source placed at . CFCET I TR T (HTIT AAEer A1l o7 |
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b (b) What is spontaneous emission of light ?
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(i) it is monochromatic Obtain the expression for path difference between

G @FRR AR the reflected rays in case of a thin film.
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(i) it is powerful
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plate behaves like a convergent

ci and find the general equatiosn

4. Cxplain how zone
lens of multiple fo
of its focal length. j
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r experiment, the optical rotation

1 1 tube of 20 cm

ar solution taken in the ' :
;)efn;lhg is found to be 13°. If the specific rotatl?]n
of sugar i3 65°, determine the strength of tne

In a polarimete

solution.
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Answer question No. 5 or 6.
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5. (a) State and explain the Brewster's 1aw.
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(b) Explain the Huygen's principle regarding
\ propagation of light wave.
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(¢) Deduce the relation of equivalent focal length
of two thin convex lenses kept at a small
distance apart. ‘ 3+3+4=10
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6. Describe an experimental method of distin-
guishing—
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(a) Circularly polarised light from unpolarised
light '
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(b) Elliptically polarised light from partially
plane polarised light.
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Answer question No. 7 or 8.
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7. (a) Distinguish between resolving power and
dispersive power of a grating. Obtain an
expression for the resolving power of a plane
diffraction grating.

What is angular dispersion of grating ?
2-+4+2=8
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(b) Write two main differences between

Ramsden's eyepiece and Huygen's eyepiece.
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8. Write short notes on any two of the following :

were franae ReleT g619 o3 Grel fordi ¢
' . 5x2~=10

(a) Elliptically polarised light
Toei RS (A

(b) Babinet's compensator
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(¢) Aplantic foci
RPN TR

(d) Half-shade polarimeter.
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9/3(Sem 4) PHY ©) 3500(W)



